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50 Person moving with constant acceleration

A person is initially at rest and subsequently moves right with a constant acceleration. The
person’s reaches speed 6.0m/s at a point 9.0 m to the right of the starting location. The aim

of this exercise will be to determine the time taken to reach this point. A first step will be
t0 determine the acceleration of the person.

a) Sketch the situation, illustrating the person at the two instants described above.
List all relevant variables for the two instants:

t = i =
L = T =
v = vf =

b) Determine the acceleration by selecting one of the kinematic equations, substituting an
solving for a. ’

c) Using a different kinematic equation, find the time that it takes the person to reach
speed 6.0m/s,

d) Suppose that you had tried to find the time taken to reach speed 6.0m/s by using

Ax 9.0m
= E‘ = 6.0111/5-_ —At .

What time does this give? Does it agree with the answer that you obtained to the
previous part? Is it correct?
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